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T 10.15 o fopam ST@T | 10.15 S99 § 10.30 S ek B had YI-9F hl Tl
3R 38 AfY & GHF d IW-YIEIhT T HIg IR g faE |

e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgTf=re)

GEOGRAPHY (Theory)

REgiRa a7 : 3 o2 STferHaTH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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General Instructions :

(i)
(it)
(iii)

(iv)

(v)

(vi)

(vii)

(viii)
64/2/1

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short -answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long -answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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‘g TEAT ITeg 1 aRya i | ' 1

Define the term ‘Age structure’.

TReT g a1 IR § 2 1

What is meant by tourism ?

Tora TR & Jorerafas 831 § T hl HEA I A B 2 1

In what type of climatic areas is sugarcane cultivated ?

foreft 2o o frenfern <t € SEeh aredfass gvaer s 9T AT © 2 1

Why are the people of a country considered its real wealth ?

ATNeh SIAHTT <hl TRIAT fohd YehR 98U <hl =iee 3R TeUs W At it

2? 1

How does the navigability of inland waterways depend on the width and
depth of the channel ?

WA et I 3T R Q &k (Heed) § afiepa hIfT | Tilag

2 2

Classify the Indian cotton textile industry into two sectors.

A § SEEA gig i =l Jaeen #§ i S-Sl S1gmEt ygta fha
TR HHE T3 & ? 1

How has a downward trend of crude birth-rate become possible in the

fourth phase of growth of population in India ?
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A) (B)
8.1) W feu mu sl # yrHiur st gfawdi (A) 3 (B) ki yg== hifse
3 3 1 foifgu |

(8.2)  Ucdeh UTHIUT S&T o Tfqey shl Teh-Ush fomiydr fafigu |

Study the diagrams given below carefully and answer the questions that
follow :

(A) (B)

(8.1) Identify and name the rural settlement patterns in the above
given diagrams shown as (A) and (B).

(8.2) Write one feature of each rural settlement pattern.

RETfeTRad 397 @hac gieaTtaa aienferl & g, 797 &1 8 & ¥ W &

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 8 :

foeprasita <ot o smfior sfeaan 61 fopedl M @ THESTl ol ¥0s¢ HIfT | 3x1=3

Explain any three major problems of rural settlements in the developing
countries.
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9. ‘g@E uwE &F fIe wRiER QGO 3T HA-Y g ? @ guE &
fohra SRishA Wi ford TR AT fohem T 7 2 TN iR | 1+2=3

What are the two main objectives of the ‘Drought Prone Area Programme’ ?

How is Drought Prone Area Programme implemented ? Explain.

10. = fu Tu @ 1 AEuHYEs 1ereE ife 3t 3Eeh e fou e yei %
I i 3x1=3

16 fepeft
5 s EATT G
ij & = e
&g sy T TE-3TEh

(10.1) I ARG d Yeffq g 3 seqra 939 ki ggae hifve 3 3qe
am fifge | E T o e A fea B 2

(10.2) 39 GIF ol hiA-Hl 3 AfeAT ST IueAsy H! 8 2
(10.3) 38 &I & foTu foggq o1 g& |iq H-a1 8 2
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Study the diagram given below carefully and answer the questions that

follow :
Steel Plant To Bokaro
/\/\
T s Steel Plant
C; @ Limestone
Hirakud Dam v Iron-ore
\ ma—sma— Railway

(10.1) Identify and name the iron and steel plant shown in the above

diagram. In which State is this plant located ?
(10.2) Which two rivers provide water to this plant ?
(10.3) Which is the main source of electricity for this plant ?
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Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 10 :

ToeTs sEuq T o fohd & fou Saterl fopedl i Jg@ siehi i =TT

HIfTT | 3x1=3
Explain any three major factors responsible for the development of
‘Bhilai Steel Plant’.

11.  “T9EEN, Teh HHT o 3T=id a1 Uer shl ST Hehdl &, SIT GHTeOT <hl BT 7 hia
2, qor SiuTgy HR gheTsil ¥ g & B 7 17 3@ weH o faweww
HINT | 3
“Possibilities can be created within the limit, which do not damage the
environment and there is no free run without accidents.” Analyse the

statement.

12. & qAT SIA b WG § WRA H [Fesd T Sieaat o o # ohelt e
g 3 2 Serewun afgd Tae hifv | 3

How have security and scarcity of water played a role in the development

of clustered rural settlements in India ? Explain with examples.

13.  “Ti¥ smuftre fued 9Yra & Ferl h uew i guen B 17 39 e
%A L H FETIH fohral diF Hodl shl ST HIT | 3x1=3

“Urban waste disposal is a serious problem in ‘Metropolitian cities’ of

India.” Explain any three values that can help in minimising this
problem.

14. T G % AN ALY AW H gEIa: fhg YR I HN K At
3 238 TR 1 HY hl oI ferivdisti 1 v Iy | 1+4=5

What type of agriculture is mainly practised in the interior parts of
semi-arid lands of the mid latitudes ? Describe the main features of such
type of agriculture.
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15. fora uiesd sl Y@ fouTd 68 TR Th-gEt 1 T 8 ? IG8UN Hisa  edee
T | 5x1=5

How are the principal modes of world transportation complementary to

one another ? Explain with examples.

16. &I #fteh fopd TR Eiwia Hfiei @ fid § 2 9RG 61 SHIOAT o STTER arfiehd
TR TSR Hal ohi SRS hI | 1+4=5

How are main workers different from marginal workers ? Explain the

four occupational categories as categorised by the Census of India.

17. GOR T iy ®reh fhd TR @Ml @i Ja™ & fore foas s+t 8 2 Igewn
gfgd g Urd shieh TIse hifTT | 5x1=5
How do push factors compel the people to migrate in the world ? Explain

any five factors with examples.

18. ¥Rd % IT<ISIT IR & dgaid ITEY <hl 3N Afgd et $hifsu | 5x1=5

Explain with examples the changing nature of the international trade of

India.

19. @A < fafvmi 1 sufeafa S sreaeen o swres i Thid o YR W g1 &l
H Fifipd T | o THGE ¥ fRH YHR A B ? IgEON Higd TR
HIfore | 1+4=5

Classify mining methods on the basis of mode of occurrence and the
nature of the ore, into two categories. How are they different from each

other ? Explain with examples.

20. “UNd ¥ T HETEA] H1 TV R YaEq Afard 7 |7 dot afgd 38 HAA h
TG 38T | 5
“Conservation and management of water resources is essential in India.”

Justify the statement with arguments.
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21. HER % feu U goHifds @At |, femm e are Wit |8 A, B, G,
D 3R E bl 989 ISy 3 39 Fat W fdafigd SHerl i Aee 8 39

| G g W@l W faRan 5x1=5
A, TRRETH &EEd W gfte § T 98l o

B. [Halgd @usw 1 U YqE &

C. ‘“IR-gEdR emnt @ fad weE

D. Y@ HHgI-9TH

E. SIS arg-9ad

Identify the five geographical features shown on the given political
outline map of the World as A, B, C, D and E and write their correct
names on the lines marked near them with the help of the following
information :

A. A country with large area in Asia
A major area of subsistence gathering
The terminal station of a ‘Trans-Continental Railway’

A major seaport

"# o o w

An international airport

g :  Hkiiad 3eT #aq g ghgniaal & o, ye7 @ 21 & €9
wE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) TRET # &%a i gfte T HH-A1 ¢ T8 F1 3 ?

(21.2) TER & fohelt Tk yg@ fafe qugw & w1 9m fofau |

(21.3) UR-ShAfeaA {@T o afeadt X & R 1 W fafaw |

(21.4) 3ThIhT o Torelt T T TYL-aeH 1 W fafEm |

(21.5) ATEfera o fopelt Teh ST=RISE ITY-Ux o1 A1 faRaT | 5x1=5
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(21.1) Which is the largest country of Asia in area ?

(21.2) Name any one major area of subsistence gathering in the world.
(21.3) Name the western terminal station of Trans-Canadian Railway.
(21.4) Name any one major seaport of Africa.

(21.5) Name any one international airport of Australia.

aa % fou T aorifas Yeamts @ frefafaa e @ H swrs e a
TS SR 3ok W fafaw - 5x1=5

(22.1) WHa faehtd gk § = T ATl T
(22.2) IS T IV IcATEH TS

(22.3) e § feuq Aftea=R Fralfieh! Uk
(22.4) dfueATg ¥ oo e 61 @ @H
(22.5) 3TEH H fedq STaisda ag-ueH

Locate and label the following five features with appropriate symbols on

the given political outline map of India :

(22.1) The state having the highest rank in Human Development Index
(22.2) The leading producer state of groundnut

(22.3) The software technology park located in Odisha

(22.4) The major coal field located in Tamil Nadu

(22.5) An international airport located in Assam
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Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 22 :

(22.1) WRA 1 HH-81 TT A foohE @i § Fai= T9H el 8 ?

(22.2) WA I HH-AT TsT HTHeAT T S ITITEH 8 ?

(22.3) ofifesn # feuq Aired=R Wreifiehl areh w1 A fafEm |

(22.4) dqfEETg # fooa st il yg@ @F &1 W fafEu |

(22.5) TEH H fedq SIS ag-ueH &1 9 fafE | 5x1=5

(22.1) Which state of India has the highest rank in Human
Development Index ?

(22.2) Which state of India is the leading producer of groundnut ?
(22.3) Name the software technology park located in Odisha.
(22.4) Name the major coal field located in Tamil Nadu.

(22.5) Name an international airport located in Assam.
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I |, 22 & forw For question no. zz -
U T {T-AHR (TS TR )
Outline Map of India (Political)
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